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73| B 3% h3 [HIF-BErF7 11.333 9.566 11.666 11.766 44.331

74| B3 MEF =l |HBF-Bo77 12.200 10.366 12.000 12.433 46.999

75|Rik ER h3 |HEF-BEr 77 11.700 10.866 10.533 12.300 45.399

1 76| HEF L E $h3 (HIF-BEVF7 12.033 12.633 13.400 13.400 51.466

F—LER(EM34AED 35.933 33.865 37.066 38.133 144.997

77 8R E8B B3 (BER 1T7HEIFT *rv

78| MR ME B3 |BXEF2=THIRIFT 11.733 8.900 8.266 9.533 38.432

T9|HRH HEH = 3 |REHIEHERERs 77 11.933 8.466 10.000 11.166 41.565

80| k42 ERIE =2 |REhiIEEakEEs 77 11.833 10.500 11.800 12.333 46.466

81|% T MK =1 |REHIEEERERs 77 12.033 12.433 12.333 13.700 50.499

2 82|iEK FEMA =l (BEhiIeEakEEs 77 11.766 8.866 10.266 12.066 42.964

F—LEBR(EM3EED) 35.799 31.799 34.399 38.099 140.096

83|lL% & =23 |(7ZL7—1igs 37 11.833 10.566 11.200 12.833 46.432

84|FE EM =2 |ZLT7—%&Y 57 11.766 9.400 11.366 9.833 42.365

85| 2H kF] =2 |BNEREEs 7 11.633 7.900 9.500 10.533 39.566

86| M ¥ntE =2 |BMERERs 77 10.933 7.666 8.100 8.733 35.432

87|FIER HE =1 |BNEREES 7 11.666 7.433 10.333 10.866 40.298

3 88|HEHE =1 (FBEMNERFEs 77 11.833 9.766 11.966 11.033 44.598

F—LBR(EM34E) 35.132 25.332 31.799 32.432 124.695

89|FiE BiF =2 [EAERERERI 7 11.366 7.600 7.300 10.000 36.266

90|12 TF {ENF =l |EEERERERS 77 11.900 11.133 10.733 11.400 45.166

91|1EM EF 52 (W=FYRRK=YI5T 9.533 6.600 10.033 10.000 36.166

92|l FHE B2 | W—TFYRRAKR=YH 57 11.866 8.133 11.133 11.166 42.298

93|%&Mt IFE 52 (W=FYRRAK=YI5T 11.566 5.933 8.800 10.000 36.299

4 9|El WE Y F3 (L=—FYRRKR=VI57 9.566 6.633 9.666 10.133 35.998

F—LEBR(EM3EED) 32.998 21.366 30.832 31.299 116.495

95| & F &R Bl [aFirFE—YY2zTRI—LEERE 11.533 8.233 8.966 9.000 37.732

96|t FmiE=E F3 [3FIRFE—YZ2=TRI—LEER 11.500 8.233 10.833 11.900 42.466
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